
「統計學歷屆試題詳解Ⅱ」增補資料 
（109.12.08） 

【P109-72】 
【台北大學金融合經所】 
一、 Suppose 1X , 2X  are independent and both follow continuous uniform 

distribution (0,1)U . Please find the probability 2 2
1 2Pr( 1)X X  .  （10%） 

 
解： 思考點：連續機率分配應用。 
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四、 Let 1 2 11, , ,Y Y Y  be a random sample of size 11n   from Group 1 with 

mean 1  and variance 2
1 ; and their sample mean is 1  and sample 

variance is 
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. Let 12 13 24, , ,Y Y Y  be the other random 

sample of size 13m   from Group 2 with population mean 2  and 

variance 2
2 ; and their sample mean is 2  and sample variance is 

24

2
2 12
2

( )

( 1)

i
i

Y
S

m










. Let iD  be a dummy, whose value is 1 if iY  from 

Group 1, and is 0 if iY  from Group 2, 1,2, ,24i   . A simple regression is 

estimated as follows: 
  ˆ 1.66 0.63i iY D  , 

whose 
24

1

ˆ( ) 6.6i i
i

SSE Y Y


   . 

 What is the value of 2 1( )  ? （5%） 

 Assume 2 2
1 2  , please find an estimate of 2 1( )Var   . (Hint: 

2 2
1 2( 1) ( 1)SSE n S m S    )  （10%） 

 
解： 思考點：Dummy Variables（二元變數）。 

11 2
1 1 1 1{ } ( , )i iY   ～  

24 2
2 12 2 2{ } ( , )i iY   ～  

given 6.6SSE  ， ˆ 1.66 0.63i iY D  （which is dummy） 

 令 ˆˆ ˆ  i i iY z   ， 1, ,11,12, ,24  i  
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透過最小平方法可得： 

1 2

1

ˆˆ ˆ 0
ˆˆ

     


 

    

  
2

1 2

ˆ ˆ
ˆ
 
 

 

  
 

2 1
ˆ( )       

 2 1 0.63    
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 Assume 2 2
1 2  ， 2 1

ˆ ˆ( ) ( ) ( )Var Var Var        
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更正原試題【P109-147】 
【中山大學經濟所】 

一、 Suppose that 2( ) 3f x x  for 0 1 x  and 2
2( | )  yf y x
x

 for 0  y x . 

Find ( | )f x y . （20%） 
二、 Let Y  be uniformly distributed on the interval (0,1). Conditional on Y y , 

let X  be uniformly distributed on the interval (0, )y . Find ( )E X  and 
( )Var X . （20%） 

三、 Let 1, , nX X  be a random sample from 

  ( ; ) ( 1) f x x  , 0 1 x . 

Find the method of moments estimator for  . （20%） 
四、 A random sample of size 1n  is drawn from a uniform pdf density over 

the interval [0, ] . We decide to test 
  0 2H ： , 

versus 
  1 2H ：  
by rejecting 0H  if either 0.1x  or 1.9x , where x  is the value 
drawn. Find  . Also, find   if the true value of   is 2.5. （20%） 

五、 Let 
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Find 1 2 3( | 75, 36) f X X X . （20%） 

  
 

高點文化publish.get.com.tw 
版權所有•翻印必究 


